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#

kg - C | 304|302 298| 306|303 300305302209 305]| 302|258 —

pH i& - — | 82| 82| 82|82 |82 |82 82|82 82]|82]82]| 82 |7585

niE — |mgL| 66 | 65| 62 | 65 | 63 | 62| 65 |63 ]| 62|66 | 64| 63 |>50
425 | 10 |mgl| <1.0 | <10 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <3.0

g z5 8| 15 |mgL| 37 | 37 | 37 | 34 | 36| 30| 35 | 34| 36| 30| 36| 35 -

R iFFRE 10 |mg/L | 161 | 164 | 182 | 50 | 118 | 148 | 84 | 106 | 7.1 | 305 | 30.2 | 298 —

0.01 | mg/L | N.D. | N.D. | 0.01 | 0.02 | ND. | N.D. | 0.02 | N.D. | N.D. | N.D. | N.D. | 0.02 —

]
Vi 0.01 | mg/L | 0.02 | 0.02 | 0.01 | 0.02 | 0.01 | 0.02 | 0.02 | 0.02 | 0.02 | 0.02 | 0.01 | N.D. —
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TR pe® % | 0002 | mg/k | N.D. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. —
LAEe® | 0005 | mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. —
a Ak CFU/ _
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N 05 |[mg/L| 1.0 1.0 0.9 12 1.0 11 11 0.9 1.0 11 12 1.0 —

=< {4~ {0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
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Zﬂi “ 3 4> |0.00005| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
I;#% % (0.00003| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
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ik — cm/s | 0.2 — — 0.3 — — 0.1 — — 0.2 — — —
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